® ®
([ ]
o o
© Q'/

® ® //"‘) +rai0\1u\ﬂ Sevos =

‘\'r&l«\'\«\D eofeor =0

\Ls (@(’k

AN

e

NARAITY
S

l } oreané€
Uy -« — < _—/3’

> Lemunt (omesp

= bt

Jx Lorongt , L0 "

P (\{ _ orawthL \\L‘ r'xﬁ&«\*)

-—
-—

Xl )
P (Y zovmnpt (l" 6"*

P (g = et
3

—

S




K ~ onif Z‘)(\‘S ": (A) = { l }J: A
o)

{m_{o [ v<o65
: =€
| f %203 ?Wuq il ‘Fhﬁm

‘60@ S?\O £ x <o

| 6 x » 075

(
ROD = 2, ) L (g ) TCe =)
C€0.y o

= S \ L., (ijﬂx))

S( T (40 # €09)

0

1]

= x €

Eon (TG0 7 ) )

= Ry #6) L €05 2 y=t
= 'PC 0.5€ R&06T5) % 2 0.7 -—’936‘3=t
) {1' Drex £6TS DYV FE

BZEE&%@} = g ped TC=eB)dx

= S (PQC) d x

+€%

- ®xe®)



